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Constitutional Law


CONSTITUTIONAL LAW OUTLINE

I. Levels of Analysis
a. Theory

i. A general method and/or set of ideas for approaching a legal problem (e.g., “originalism” as a theory of constitutional interpretation. How to discern the meanings of the words of the Constitution?)

b. Doctrine

i. Rules that guide decisions in particular legal cases (e.g., applying “strict scrutiny” to racial classifications is settled constitutional law doctrine)

c. Political Ideology

i. Positions and beliefs about government structure and policies (e.g., personally identifying as “liberal” or “democrat”)
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II. The Federal Judicial Power
a. Marbury v. Madison
i. The case that created judicial review. Suit involved writ of mandamus to enforce Adams’ appointments to the Supreme Court which Madison was withholding. Court says that the Judiciary Act of 1789 which purported to give the Supreme Court the power to issue writs of mandamus was unconstitutional because the Court did not have original jurisdiction over such actions. The Judiciary Act attempted to give the Supreme Court original jurisdiction where according to Article III it cannot have original jurisdiction.
ii. Court decisions are enforced by manner of executive compliance. This was the brilliance of Marshall’s decision in Marbury v. Madison and the Court’s decision to not use the power of judicial review again until Dredd Scott. 
b. Martin v. Hunter’s Lessee 
i. The Supreme Court may exercise judicial review of state decisions. 

ii. Justice Story explains that this makes sense because if Congress had refrained from creating lower federal courts, the only constitutional authority the Supreme Court would have would be to review state court decisions. Without such interpretation, the Constitution would have created a Supreme Court without any real power to exercise. And the Constitution presumes that state courts are influenced by state interests because state judges are elected or appointed which must be checked by the federal courts. Story also concludes that the Supreme Court’s review of state courts is necessary for the universal interpretation of federal law.
c. Cohens v. Virginia
i. Section 25 of the Judiciary Act gave the Supreme Court the power to review state court decisions. The Court holds that law constitutional for many of the same reasons as in Martin v. Hunter’s Lessee.
d. Cooper v. Aaron
i. Following Brown v. Board (ordering desegregation) states adopted legislation to nullify the Supreme Court’s decisions.

ii. Governor Faubus of Arkansas was given a federal court order to allow the Little Rock Nine to attend a “white” school. In response, Faubus withdrew the state guard troops which he had dispatched to prevent the children from attending. This meant that a mob was instead allowed to converge on the school to prevent the students from staying so they had to be removed for safety. President Eisenhower decided to send the Army to enforce the federal law and nationalized the state guard to prevent their use by the governor. The Cooper opinion was brief but declared the Constitution the supreme law of the land and federal law superior to state law making the governor required to comply (this decision was clever because it was issued after Eisenhower had sent troops to the school)
e. These three decisions (Martin, Cohens, Cooper) assert that the Court has the power to review state court decisions and law and the states must comply because of the superiority of federal law.

III. Constitutional Interpretation

a. Sources

i. Primary
1. Text of the Constitution (textualism)

2. Original constitutional history (how did the Constitution get drafted? Who said what when about the drafting or a particular provision?)
3. Overall structure of the Constitution

4. Values reflected in the Constitution

ii. Secondary

1. Judicial precedents (how the Court itself has interpreted the Constitution)

b. Originalism versus Non-originalism

i. Originalism

1. Specific intent

a. What did the Framers mean the Constitution to do?

b. Changes from this require constitutional amendment

c. E.g., Scalia’s majority opinion in D.C. v. Heller.

2. Modified/Abstract Intent

a. What the Framers would mean for the Constitution now?

3. Original Meaning/Understanding

a. Scalia applies this approach in D.C. v. Heller when he looked back at dictionary definitions and other colloquial definitions of terms.
4. THE POINT: textualism and originalism are not the same. Originalists do not limit what they can look to for interpretation. It is not as constraining as sold.
ii. Non-originalism
1. Look at specific intent of the Framers, but also at other sources. Non-originalists are not bound by the original meaning.

2. E.g., Stevens in D.C. v. Heller attempted to derive meaning from the actual language of the 2nd Amendment.

c. D.C. v. Heller
i. This decision becomes the only majority opinion based on originalist interpretation.

ii. Justice Scalia interprets the Constitution to invalidate a D.C. law placing heavy restrictions on gun ownership and possession. There isn’t really a rule to be drawn from this case beyond that this law is unconstitutional. Neither does this law create a standard of review for 2nd Amendment laws. While saying this limitation was unconstitutional, Scalia acknowledged that the 2nd Amendment was not an absolute right neither for certain people (e.g., felons) or certain places (e.g., schools).
IV. Justiciability Limits
a. There is a need for a controversy for a federal court to have the power to review a case

b. The Case or Controversy Requirement is laid down in Article 3

i. The five justiciability doctrines were developed by the Supreme Court to satisfy the case or controversy requirement

1. Prohibition against advisory opinions

2. Standing (5 standing requirements)

3. Ripeness

4. Mootness

5. The Political Question Doctrine

c. Prohibition Against Advisory Opinions

i. The Opinion of the Justices

1. Secretary of State Jefferson, for President Washington, wrote to the Supreme Court looking for advice on what he is allowed to do specifically in regards to neutrality in war. The Court declined saying they do not provide advisory opinions.

ii. Hayburn’s Case

1. Congress legislated that the judiciary was to evaluate claims for repayments for Revolutionary War pensions. The Court rejected this because they do execute laws in that manner. It was an executive action which would have ruined the separation of powers
d. Standing

i. Asks “is this the right plaintiff?”
ii. The basic constitutional requirements of standing (Allen v. Wright)

1. Injury

2. Traceable (causation) – the defendant caused the injury to the plaintiff

3. Redressability – the court has a way to address the wrong

iii. Absence of any element means it is NOT a “case or controversy”

iv. Prohibition against third-party standing

1. General rule: party has standing only to assert his own rights

2. EXCEPTION: practical hindrance against third party asserting own rights + special relationship; no clear definitive test for what constitutes a sufficient relationship

e. Ripeness

i. Asks “is it too soon?”

ii. Basic rule: plaintiff may not present a premature case or controversy, often a consideration of when the Court may rule on the constitutionality of a law before it is enforced against the plaintiff
f. Mootness

i. Asks “is it too late?”

ii. Basic rule: plaintiff must present a live controversy, an on-going injury at all stages of litigation

iii. EXCEPTIONS:

1. Capable of repetition yet evading review: applies to facts of short duration and that are capable of repetition as to this plaintiff
2. Voluntary cessation

a. Defendant can voluntarily stop doing whatever was at issue to moot the case. If this is done, the Court has chosen to continue hearing the case.

3. Class Actions

a. More than one plaintiff and one plaintiff’s issue may be mooted.

g. Political Question

i. Asks “what topics are off limits?”
1. Basic question: does the substantive claim in the case present a “political question” that makes the claim unreviewable?

ii. The political question doctrine is basically a function of the separation of powers

iii. Baker v. Carr
1. Initial steps:

a. Identify the precise claim

b. Ask does the claim implicate the separation of powers?

c. Determine whether the ultimate authority over the claim rests in one of the political (non-judicial) branches.

2. In Baker, the Court set forth 6 tests for the existence of a political question (in descending order of importance):
a. A demonstrable textual commitment of the issue to a coordinate political department. The Constitution says one branch or another has the authority or power so the Court will not usurp the power.
b. A lack of judicially discoverable and manageable standards for resolving the issue. The justices would not be able to judge the issue because there could be no applicable standard.

c. An initial policy determination of the kind premised on non-judicial discretion
d. Expressing lack of respect for the coordinate branches

e. The potential for embarrassment from multiple decisions by various departments on one question.

iv. Powell v. McCormack
1. Powell was elected to Congress. He had done something as chairman of the House Committee on Education and Labor which lead to Congress refusing to seat him. He sued argued he met the requirements to be sworn in under the Constitution.

2. Court asks whether the claim was justiciable. The Court determined this was not a political question because the Court has authority to read what the powers of Congress are. They found it was a problem for Congress to add requirements to be elected. It would undermine the democratic process by allowing Congress to kick out elected members.
v. Goldwater v. Carter
1. President Carter unilaterally terminated a treaty with Taiwan. The Constitution is silent on whether the President can do this without Congress.
2. Court agrees that dismissal of the suit is proper, but without a majority opinion does not agree on why. The opinion of the Court (an opinion by a plurality) deems the issue a political question. Other justices think it is not a political question but still should be dismissed on other grounds.
vi. Zivotofsky v. Clinton
1. The statute at issue was one which allowed individuals born in Jerusalem to have Israel listed on passport as place of birth. Secretary of State argued courts lacked authority because it was a political question.
2. Court says it was not a political question and ruled on it.
vii. Nixon v. U.S.
1. Judge Walter Nixon (not President Nixon). Judge wanted decided by the court whether he needs impeached by the entire Senate. This was found to be a political question because the Constitution put the Senate as the “sole” power to try impeachment issues and this would violate the separation of powers (it is not justiciable but the Court interprets the article here).
V. Early Interpretations of the Constitution

a. Series of decisions dealing with the division of powers and how the Court read the Constitution broadly

b. Barron v. Mayor & City Council of Baltimore
i. City diverts streams causing area where plaintiff had his wharf to be too shallow to bring in boats. Plaintiff sues based on the Takings Clause of the Fifth Amendment for making his wharf useless without just compensation.
ii. The Court rejects this suit because the City did not exceed its authority and this was not a violation of the 5th Amendment. The federal Constitution with Bill of Rights as originally drafted only applied to and limited the federal government. The drafters were concerned with the power of the federal government, not the power of the states. In Barron, the Court held that the 5th Amendment did not apply to the states.
c. Prigg v. Pennsylvania
i. Pennsylvania passed a personal liberty law in 1826 allowing a person to go to court and argue that they were actually a free person and not a fugitive slave when someone asserted that they were a fugitive slave. The law required a court hearing.
ii. The Court struck down this law as interfering with the Fugitive Slave Clause of the Constitution and the Fugitive Slave Act which required return of slaves.
iii. This case established a broad national (legislative) power with respect to enforcing provisions of the Constitution that protected slavery.

d. Dred Scott v. Sanford
i. Issues were (1) whether Dred Scott who was enslaved but had travelled to and lived in a state where slavery was outlawed could sue in federal court and (2) whether the Missouri Compromise was constitutional.
ii. The Court concluded Dred Scott was not a citizen with standing because at the time of drafting, the term citizen in the Constitution did not include individuals of African descent.
iii. The Court interpreted the Constitution as (1) prohibiting any person of African descent born in the U.S. (enslaved or free) from being a U.S. citizen (and the lower court should have dismissed Scott’s claim) and (2) as limiting Congress’s power to pass the Missouri Compromise because the right of property in enslaved persons was protected in the Constitution – federal law conferring freedom on anyone held as a slave in any state improperly infringed on “right to property” in slaves.
e. Summary

i. Barron v. Baltimore: Bill of Rights does not apply directly to limit state government power

ii. Prigg v. Pennsylvania: Court adopts view of federalism interpreting the Constitution to give Congress very broad power to protect rights of slavers. Court affirmed right to recapture someone who had been enslaved.

iii. Dred Scott v. Sanford: Supreme Court (1) interprets the Constitution as prohibiting any person of African descent born in the U.S. (enslaved or free) from being a U.S. citizen (and should have dismissed Scott’s claim) and (2) interprets the Constitution as limiting Congress’s power to pass the Missouri Compromise because the right of property in enslaved persons is protected in the Constitution.

f. Slaughter-House Cases
i. New Orleans grants a monopoly to a slaughterhouse. Butchers filed a lawsuit contesting the monopoly. This suit gives the Court an opportunity to interpret the 13th and 14th Amendments.
ii. The Court interpreted the privileges and immunities clause narrowly. The clause was specifically written to apply only to the federal government and therefore only protects privileges and immunities of national citizenship (this holding is still good law).
iii. The Court interpreted the equal protection clause narrowly to apply only to African-Americans.
iv. Moreover, a private individual can violate the 13th Amendment. Unlike the other amendments, no state action is required.

v. The Court overturns Dred Scott and holds that Section 1 of the 14th Amendment has a citizenship clause granting citizenship to anyone born in the United States.
g. The Civil Rights Cases: United States v. Stanley
i. Several separate cases involving individuals discriminated against by private entities which provided public accommodations. The government action at issue is constitutionality of the Civil Rights Act of 1875.
ii. The Court holds the Act to be unconstitutional.

1. “Nor shall any State… deny to any person within its jurisdiction the equal protection of the laws”

a. The Court says there needs to be state action based on the phrase “nor shall any State”

b. 14th Amendment Section 5 says “The Congress shall have the power to enforce, by appropriate legislation, the provisions of this article.”

c. Congress can only pass federal laws that prohibit states from passing laws that discriminate on the basis of race.
d. Congress has no power to pass laws which restrict private conduct. The 14th Amendment, instead, was to prohibit state action. This case established the state action doctrine.

i. Two exceptions to the state action doctrine:
1. Public function exception: if a private entity performs a task traditionally, exclusively performed by the government, the Constitution applies
a. Marsh v. Alabama
2. Entanglement exception: if the government affirmatively authorizes, facilitates, or encourages unconstitutional conduct, the Constitution applies.

VI. Limits on Government Power – Equal Protection
a. Framework for Current Equal Protection Analysis
i. Does the law “classify” on the basis of a “suspect” classification?

1. Five Illicit Equal Protection Classifications
a. Race (ethnicity and national origin) – suspect

b. Gender – quasi-suspect

c. Alienage (citizenship) – suspect

d. Legitimacy (non-marital children) – quasi-suspect

e. Exercise of fundamental rights – suspect

ii. Only two ways a plaintiff is permitted to prove government has used a suspect classification:
1. The law is facially discriminatory

2. Plaintiff can prove the “facially neutral” law was passed to achieve a discriminatory purpose

	Type of Classification

(that is basis for difference in treatment)
	Level of Review

(that classification is subject to)
	Standard of Review

(classifications used by government must be…)

	Suspect Classification
	Strict Scrutiny
	Narrowly tailored to serve compelling government interest

((1) Must have a compelling government interest (ends) and (2) must be narrowly tailored to meet the interest (means))

	Quasi-Suspect Classification
	Intermediate Scrutiny
	Substantially related to important government interest

((1) Must have an important government interest and (2) must be substantially related to meet the interest)

	Non-Suspect Classification
	Rational Basis Review
	Rationally related to legitimate government interest

((1) Must have a legitimate government interest and (2) must be rationally related to the interest)



RACIAL CLASSIFICATIONS
b. Plessy v. Ferguson
i. Louisiana passed a law requiring separate railway cars for African Americans and whites. The cars needed to be “equal but separate.” The law specifically targeted African Americans.
ii. The issue was whether this law violated the 14th Amendment of the Constitution. The Court held it did not violate. Court said the 14th Amendment was to establish equality of the two races before the law, but not to abolish distinctions between the two races or to force social equality. Court reasons that separation of African Americans from whites does not mean that African Americans are inferior.
c. Tape v. Hurley
i. Jim Crow in the western United States. Denial of Chinese student from California public school based on Court’s interpretation of the Equal Protection Clause.
d. Berea College v. Kentucky
i. Integrated school convicted for violating state segregation laws

e. The Road from Plessy to Brown – Charles Hamilton Houston’s impact litigation

i. Sue to enforce the “equal” part of the clause (an incremental change)

1. Equal pay, facilities, etc. for blacks. Essentially making it really expensive to keep separate but equal.

2. Sweatt v. Painter – older postal inspector sued to go to law school. Compelling case because of reputable plaintiff. Picked graduate school because easier to integrate adults over children (less opposition). Also, judges went to law school so they would understand the difficulty of going to a law school without an established history (as the segregated one here). Moreover, the dean of the white school wanted to let Sweatt in, but a TX law prohibited it.
ii. Harms of Segregation

1. Mendez v. Westminster – no longer agenda to get equal schools. Agenda began to be to get rid of segregation entirely.

iii. Finally, Brown v. Board of Education
1. After Brown v. Board, the Court decided Bolling v. Sharpe which invalidated segregation in DC. This was important because the 14th Amendment does not apply to the federal government so the Court had to determine that the Equal Protection Clause was included in the 5th Amendment Due Process Clause by reverse incorporation.
f. Brown v. Board of Education
i. Overturns Plessy. Jim Crow segregation and separate but equal, violates the Equal Protection Clause of the Constitution. The Court uses non-originalism to interpret the Equal Protection Clause citing the fact that public schools did not exist when the 14th Amendment was written. The Court focused on the importance of education and the fact that segregation made African Americans feel inferior.
g. Korematsu v. United States
i. Federal executive order was issued banning Japanese and Japanese-Americans from the West Coast. They were then evacuated and interned.
ii. The Court considered whether this executive order was constitutional. The Court decided it was constitutional because it did not violate the 14th Amendment equal protection clause. Koremastu purports to apply strict scrutiny (before this standard was created). However, the Court upheld the law because the government had a compelling purpose in ensuring the national security.
iii. This decision is criticized because the ends of the government action do not match the means. The means are not narrowly tailored. The order was so incredibly over-inclusive because there was not any evidence suggesting that any Japanese-American actually posed a risk to national security.
h. Loving v. Virginia
i. Virginia had an anti-miscegenation law and Loving and his wife were convicted for violating it.

ii. The issue the Court considered was whether this law violated the 14th Amendment’s equal protection clause. The Court held that the law did violate the Constitution. Again, the Court applied strict scrutiny without explicitly stating it (citing Korematsu for “rigid scrutiny”) and finds there was “no legitimate overriding purpose” for the law. The law was to “preserve the racial integrity of white citizens” but prohibiting marriage between whites and blacks (but no one else). The Court also goes so far as to say the law serves “patently no legitimate overriding purpose” (a reference to rational basis). In other words, the law is so guilty of “invidious racial discrimination” that it cannot even satisfy the lowest level of judicial scrutiny.
i. Palmore v. Sidoti
i. Lower court says a divorced mother cannot have custody of a child because she is married to a black man and the child will suffer discrimination based on it.
ii. The Court is faced with the issue of whether this law violates the Equal Protection Clause and they hold that it does. The Court applies strict scrutiny without using the two prongs and finds that private racial biases (the discrimination that the child may face) cannot drive government action.
GENDER BASED CLASSIFICATIONS

j. Intermediate scrutiny is currently applied.

k. Reed v. Reed
i. A state had a hierarchy for administering an estate which placed men higher than women if both were of equal rank.

ii. The Court, for the first time, invalidated a gender classification (though purporting to apply only a rational basis review)

l. Frontiero v. Richardson
i. Men could automatically claim wives as dependents but women had to show that their husbands were dependent for more than 50% of income on their wives. This is a facial gender classification.
ii. The Court decides whether this violates the Equal Protection Clause and holds that it does. The Court, in a plurality opinion, applies strict scrutiny (THIS IS NOT THE RULE FOR GENDER CLASSIFICATIONS). Court reasons that administrative convenience is not a compelling rationale to satisfy strict scrutiny.
iii. Frontiero Factors for determining whether a classification should receive heightened scrutiny (meant to be applied to argue for heightened scrutiny where it hasn’t been applied in the past):

1. History of discrimination

2. Immutable characteristics

3. Inability to use the political process to change laws

m. Craig v. Boren
i. A law allowed women to drink 3.2% beer at 18 years but men were not allowed to drink the same until 21 years.

ii. The Court considered whether this law violated the equal protection clause and held that yes, it did. The Court applied intermediate scrutiny to the question. The Court stated that traffic safety, which the state argued this law sought to advance, was important. However, the law was overbroad and failed the tightness of fit analysis. Statistics did not show that the distinction between men and women for this reasons was substantially related to the purpose.
n. United States v. Virginia (Virginia Military Institute)
i. VMI was a males-only university. VMI was ordered to admit women, so instead, it established another university for women with a different curriculum, professors, and majors. 
ii. The Court considered whether this gender classification violated the Equal Protection Clause of the Constitution. The Court held that it did. The Court applied intermediate scrutiny. The Court, through Justice Ginsburg, acknowledged a difference between the genders. But, though the Court accepts that a teaching method geared towards men may not suit women as an important justification, but finds that prohibiting women from attending the university was not substantially related to that important justification. Some women could fit the criteria sought by VMI, so banning all outright, could not be upheld.
o. Orr v. Orr
i. Alabama alimony statute provided that husbands, but not wives may be required to pay alimony upon divorce.
ii. Court considers whether the law violates the Equal Protection Clause and holds that it does. The Court applied intermediate scrutiny. The law served the important purposes of providing women support after a divorce and of compensating women for past discrimination during marriage. But, the means are improper because sometimes the men may be the needy spouse. If the purpose of the law was to help needy spouses, it was under-inclusive because it did not serve men. But if the purpose of the law was to help needy women, it was over-inclusive because some women did not need the support.

NON-SUSPECT CLASSIFICATIONS – RATIONAL BASIS
p. Railway Express
i. A New York City traffic regulation prohibited certain advertisements on certain vehicles. E.g., a carrier could put his own advertisement on his own truck, but another carrier could not put someone else’s advertisements on his own truck.

ii. The Court considered whether this law violated Equal Protection and held that it did not. The Court applied rational basis. Plaintiff argues the law is under-inclusive because it targeted not the advertisements which the City stated were the problem, but the trucks on which they were carried. It did not prohibit advertising on vehicles. The Government said it would satisfy rational basis because the government had a legitimate interest in promoting traffic safety and the limitation on advertising was rationally related to this because it reduced distractions while driving.
iii. This demonstrates that rational basis tolerates both under- and over- inclusiveness. Additionally, the Court is allowed, on behalf of the government, to hypothesize a better legitimate purpose for the government.

q. Massachusetts Board of Retirement v. Murgia
i. Massachusetts state statute required state police to retire at 50 years’ old.
ii. The Court considered whether this state statute violated the Equal Protection Clause by classifying on the basis of age and holds that it does not. Age is a non-suspect classification and is therefore subject to rational basis review. Plaintiff attempts to argue for intermediate scrutiny but the Court rejects this and holds the law constitutional because it tightness of fit does not matter for rational basis (it does not matter that this plaintiff was fit and could continue working when older than 50). 
r. Rational Basis PLUS

i. This is applied when the Court applies rational basis but still strikes down the law. It is usually triggered by some evidence of animus towards a group behind the law.
ii. City of Cleburne v. Cleburne Living Center, Inc.
1. City denies a permit for a home for the mentally retarded on the basis of neighborhood safety and guarantee of proper housing for the mentally retarded.
2. Court asks whether the denial of the permit violates the Equal Protection clause and holds that it does. The Court rejects the government’s reasons for not granting the permit and says it was rejected for the sole reason that the housing was for the mentally retarded. The law classified in a way that was not rationally related to any purpose.
s. Facially Neutral Laws

i. Washington v. Davis
1. Test 21 was administered to police applicants and more African-Americans failed the test. Plaintiffs argued it violated equal protection because it was a poor indicator of a good police officer and failed African-Americans at a far greater rate.
2. Court considers whether the examination, which is facially neutral, violated the equal protection clause. The Court holds no and does not even ask whether this was a good test because the plaintiff did not show there was an exclusion purpose.
3. RULE: when a law is facially racially neutral, a plaintiff must present convincing evidence that the law has (1) a racially exclusionary effect AND (2) a racially exclusionary purpose (intent).
a. Applies to race, religion and gender.

ii. Palmer v. Thompson
1. Instead of desegregating pools, a city closed all of its pools. Plaintiffs argued that this action should trigger heightened scrutiny because it was clear that the city closed the pools to avoid desegregating.
2. The Court did not apply heightened scrutiny because there was no exclusionary effect. This case however is cited in Davis for the racially exclusionary effect requirement though Davis requires more than just an effect. Court in Davis says applying strict scrutiny when there is an exclusionary effect without an exclusionary purpose would be too far reaching and affect too much good legislation.
iii. Personnel Administrator of Massachusetts v. Feeney
1. There was a Massachusetts regulation that stated a preference for veterans in hiring over non-veterans. This was an absolute preference.

2. Court considered whether this preference violated the equal protection clause as a gender based classification. Plaintiff argued for intermediate scrutiny because so few veterans were female that the preference operated as a gender classification. The plaintiff argued that purpose is knowledge to fulfill the exclusionary purpose part of the Davis requirements. Court rejects the plaintiff’s argument and says knowledge is not purpose.

3. RULE: A plaintiff must show more than intent as volition or intent as awareness of consequences. Plaintiff must show legislature passed the law because it classified not in spite of its classification.
iv. Proving Discriminatory Purpose

1. Village of Arlington Heights v. Metropolitan Housing Development Corp.
a. Respondent applied for rezoning from single-family homes to multi-family homes for low-income families. Local government denied the rezoning application.
b. The Court considered whether the law violated the Equal Protection Clause and found there was no violation. The Court applied rational basis review because exclusionary effect and purpose needed to be proven and purpose was not. The Plaintiff was trying to show how the denial of the permit adversely affected minorities because most of the city’s low-income families were minorities. They tried to show the zoning was to exclude African-Americans.
2. How do you prove the exclusionary purpose required in Feeney and Palmer? Combining Feeney and Arlington Heights shows exclusionary purpose is quite difficult to show. Factors:
a. More heavy burden on one race (impact)

i. A clear pattern of exclusion serves as some evidence of discriminatory purpose

ii. Except in very extreme situations, burden alone will not prove violation of equal protection.

iii. E.g., extreme statistical proof
b. Historical background of decision (the legislation)
i. E.g., statements on purpose, legislative purpose
c. Specific sequence of events leading up to the decision

i. Departure from regular procedure will suggest purpose (whether events leading up to decision are suspicious)
ii. Substantive departures (decision inconsistent with typical priorities; whether the decision inconsistent with typical substantive considerations)
iii. E.g., change of zoning application to avoid granting is suggestive of purpose

iv. Did you change criteria for rezoning upon receipt of this application to avoid granting?
d. These factors are NOT EXCLUSIVE

v. Geduldig v. Aiello
1. State provided disability insurance. Stated pregnancy was not a disability allowing claim for insurance payments.

2. Court asks whether this disability insurance exclusion for pregnancy violated equal protection and holds no. The Court applied rational basis because while California’s denial of insurance recovery for pregnancy was particular to women, California had a legitimate purpose in balancing its books by avoiding high cost of disabilities. Court painted the classification as a facial pregnant/non-pregnant, not male/female so only rational basis applied. California desiring to balance its budget (a legitimate government purpose) would definitely satisfy rational basis because pregnancy was such an expensive and common claim (rational relation)
vi. Califano v. Webster
1. A government policy allowed women to exclude more lower-wage years than men for social security purposes. The goal and effect of this law was to increase women’s social security benefits.
2. The Court considered whether this policy violated equal protection as a facial gender classification under intermediate scrutiny. The Court said it did satisfy intermediate scrutiny. The government had an important purpose of reducing economic disparity between men and women because of “longstanding disparate treatment of women”
3. RULE: Remedying general societal discrimination against women is an IMPORTANT government purpose.

vii. Richmond v. J.A. Croson Co.
1. The City of Richmond had a policy of providing city contracts to minority businesses.
2. The Court considered whether the policy violated equal protection and found that it did. Strict scrutiny applies here because the law is a facial racial classification. The Court REJECTS the argument that remedying general societal RACIAL discrimination is a compelling government interest.
a. The majority was concerned with a policy of relying solely on race in the awarding of a contract by the government. The Court majority also noticed that disparity statistics were not always evidence of discrimination. It is impossible to known how many minorities are in a particular industry or if they want to be in that industry. “A generalized assertion that there has been past discrimination in an entire industry provides no guidance for a legislative body to determine the precise scope of the injury it seeks to remedy.”
3. Cases of racial affirmative action have split the Justices. Some justices believe intermediate scrutiny should apply when dealing with governmental affirmative action while others believe it should be strict scrutiny. If the intermediate scrutiny in Califano had been applied to Croson, the City of Richmond may have prevailed. The debate continues because some believe the government should be race conscious if it is for a good faith reason.
4. RULE: race-based affirmative action: strict scrutiny applies and “strong basis in evidence” of need to remedy discrimination accepted as compelling government purpose (added by Croson)
a. Or for “diversity” in higher education

t. RATIONAL BASIS PLUS
i. Any legitimate purpose will allow a law to pass rational basis. Pretty much any police purpose will constitute a legitimate purpose. This means almost any goal, not forbidden by the Constitution, will satisfy. Romer, however, shows this isn’t always true, so there must be a different standard.
ii. Romer v. Evans
1. Colorado proposition prohibited “all legislative, executive, or judicial action at any level of state or local government designed to protect the named class…[, homosexuals].” 
2. The Supreme Court applied rational basis in determining whether this law violated equal protection. The Court struck this law down despite the rational basis standard.

a. Why strike it down?

i. The law raises “the inevitable inference that the disadvantage imposed is born of animosity toward the class of persons affected.”

ii. ANIMOSITY towards a group triggers rational basis plus
3. Scalia dissents and argues the Court should defer to the popular vote. He points to Bowers v. Hardwick which had not been overturned and which allowed laws limiting private sexual conduct.
u. Equal Protection and Citizenship

i. Technically strict scrutiny applies to laws classifying based on citizenship, but exceptions swallow the rule.

ii. Citizenship (alienage) self-government and democratic process exceptions earn rational basis review

1. Foley v. Connelie
a. Asked whether a state may constitutionally limit the appointment of members of its police force to citizens of the United States. The Court applied rational basis.
b. The Court reasoned the interest sought to be protected by the law were the rights and safety of citizens patrolled by police. And the law was related to the citizenship classification because the state has an interest in having citizens should patrol citizens just like jurors must be citizens to adjudge defendants.
2. Ambach v. Norwick
a. Whether a state, consistently with the Equal Protection Clause of the 14th Amendment, may refuse to employ as elementary and secondary school teachers aliens who are eligible for U.S. citizenship but who refuse to seek naturalization.
b. The court applied rational basis and upheld the law. Because teachers serve an important governmental function, only rational basis applies. And the important governmental purpose was served by the restriction because it was “carefully framed to serve its purpose, as it bars from teaching only those aliens who have demonstrated their unwillingness to obtain United States citizenship.:
iii. Citizenship (alienage) federal interest exception earn rational basis

1. When a state crosses into the role of the federal government (e.g., a state attempting to regulate immigration), the federal interest exception applies.

2. Matthews v. Diaz
VII. Limits on Government Power – Substantive Due Process
	Substantive Due Process
	Equal Protection

	Emphasis: fairness between the government and the individual (not compared to others in the same situation)

Clue: denies right to all
	Emphasis: disparity in government treatment of different categories of similarly situated individuals

Clue: denies right to some; allows it to others


a. The Court has found substantive due process in the singular word “liberty” within the 14th Amendment’s Due Process Clause.
b. If a right is safeguarded under due process, the constitutional issue is whether the government’s interference is justified by a sufficient purpose. But if the right is protected under equal protection, the issue is whether the government’s discrimination as to who can exercise the right is justified by a sufficient purpose.

c. Four questions for analyzing fundamental rights:

i. Is there a fundamental right?
ii. Is the right infringed?

iii. Is the government’s action justified by a sufficient purpose?

iv. Are the means sufficiently related to the goal sought?

1. 3+4 are just applying the standard of review – rational basis or strict scrutiny

2. Strict Scrutiny Test

a. End (purpose) = must be “compelling” goal not prohibited by the Constitution

b. Means (law) = only permissible if “necessary” (least burdensome way to achieve the purpose

3. Rational Basis

a. End (purpose) = permissible as long as Court can conceive ANY goal not prohibited by the Constitution

b. Means (law) = permissible as long as “rational relationship” to the purpose

d. Lochner-Era Substantive Due Process (1900-1936)

i. The word “liberty” in the 14th Amendment was used to mean the liberty to contract. The Court protected liberty to contract as preventing the government from regulating the economy.
ii. Lochner v. New York (1905)
1. New York passed a maximum hours law for bakers.
2. Court asked whether this law violated substantive due process and held that it did. Court appeared to apply strict scrutiny and struck down the law based on the “fact” that bakers and employers are of equal position to negotiate for wages and hours. Court seems to be taking a policy preference and forcing it on Congress by striking down these laws.
3. Now this case is counter-precedent as often cited as a warning of what the Court should not do by the dissent when the Court strikes down a law.

iii. Muller v. Oregon (1908)

1. The Court upheld a law setting maximum hours for women based on a Brandeis Brief. Despite the fact that this Court was ready and willing to strike down many labor laws but, seemingly arbitrarily, would uphold some (those which it apparently felt fit its policy preference.

iv. Adkins v. Children’s Hospital (1923)
1. Striking down law setting minimum wage for women.

v. Weaver v. Palmer Bros. Co. (1926)

1. Struck down a consumer production law regarding bedcovers. Said the law interferes with substantive due process

e. The Fall of Liberty to Contract (post-1937)

i. West Coast Hotel Co. v. Parrish (1937)

1. The Court upheld a law setting minimum wage for women and minors. It explicitly overruled Adkins. The Court did an about face from Lochner and explicitly rejected the Lochner Court’s formulation of the right to contract. Court began to defer to the judgment of the legislature and stopped striking down laws which its policies did not comport with.
ii. United States v. Caroline Products Co. (1938)

1. Does the “Filled Milk Act,” which prohibits shipment of skimmed milk mixed with any fat or oil other than milk violate the Fifth Amendment?

2. The Court held this law was valid. Court reasoned setting a minimum nutrition is within Congress’s power and legislative judgment is presumed rational.
3. The Court applied rational basis presuming the legislation was valid, but created the below footnote exception to the rational basis standard.
4. Ftn. 4; “Nor need we enquire whether similar considerations enter into the review of statutes directed at particular religious, or racial minorities, whether prejudice against discrete and insular minorities may be a special condition, which tends seriously to curtail the operation of those political processes ordinarily to be relied upon to protect minorities, and which may call for a correspondingly more searching judicial inquiry.”

a. Constitutionality will not be presumed when:

i. Legislation is within a specific prohibition of the Constitution (the Bill of Rights)

ii. Legislation restricts the political process

iii. Prejudice against “discrete and insular minorities”

iii. Williamson v. Lee Optical of Oklahoma, Inc.

1. Does a law which makes it unlawful for any person not licensed as an optometrist or ophthalmologist to fit lenses to a face or to duplicate or replace into frames lenses or other optical appliances, except upon written prescriptive authority of an Oklahoma licensed ophthalmologist or optometrist violate the Due Process Clause?
2. The Court held no, reasoning that Oklahoma law may exact a needless, wasteful requirement in many cases. It is for the legislature, not the courts, to balance the advantages and disadvantages of the requirement. The rule applied is rational basis.
f. Incorporation

i. Slaughter-House Cases held the application of the Bill of Rights to the states could not be through the Privileges or Immunities Clause.

ii. 1897; Chicago, Burlington & Quincy Railroad Co. v. City of Chicago; the Supreme Court rules that the Due Process Clause of the 14th Amendment prevents states from taking property without just compensation (no explicit mention of the 14th Amendment, but it has this as a practical effect)

iii. 1908; Twining v. New Jersey; the Supreme Court explicitly discussed applying the Bill of Rights to the states through the process of finding a right to be “incorporated” into the Due Process Clause of the 14th Amendment. The Court however ruled that the 5th Amendment did not apply to the states.
iv. 1925; Gitlow v. New York; the Court for the first time held that the First Amendment’s protection of freedom of speech applies to the states through its incorporation into the Due Process Clause of the 14th Amendment.

v. 1993; Powell v. Alabama; incorporated the 6th Amendment to the states in capital cases.

vi. Palko v. Connecticut (1937)

1. Rejected total incorporation, approving selective incorporation, but determining that the 5th Amendment protection against double jeopardy failed the selective incorporation test.

a. Test: whether it is a “principle of justice so rooted in the traditions and conscience of our people as to be ranked as fundamental.”

i. Unclear and looking into the past for protection instead asking what should be protected now.

2. Does a state statute permitting appeals in criminal cases to be taken by the state violate the 14th Amendment?
a. Court says no. Prohibition of criminal appeals in a state would be the 5th Amendment applied to the states through the 14th Amendment. The right to trial by jury and immunity from prosecution except by indictment “are not of the very essence of a scheme of ordered liberty”
vii. The Process of Selective Incorporation

1. Adamson v. California (1947)
a. Does a California law permitting the prosecution to comment on the failure of a defendant to explain or to deny evidence against him and allowing it to be considered by the jury violate the 14th Amendment? The Supreme Court held no. The Fifth Amendment at this point does not apply to the states through the 14th. Citing Palko, “the Due Process Clause does not protect, by virtue of its mere existence the accused’s freedom from giving testimony by compulsion in state trials that is secured to him against federal interference by the Fifth Amendment.” “When evidence is before a jury that threatens conviction, it does not seem unfair to require him to choose between leaving the adverse evidence unexplained and subjecting himself to impeachment through disclosure of former crime.”
2. Duncan v. Louisiana
a. Does the Louisiana Constitution which grants jury trials only in cases in which capital punishment or imprisonment at hard labor may be imposed violate the 14th Amendment? The Supreme Court said yes because the 14th Amendment incorporates the 6th Amendment to the states. The 14th Amendment denies the states the power to “deprive any person of life, liberty, or property without due process of law. The right to jury trial applies to the states if whether a right is among those fundamental principles of liberty and justice which lie at the base of all of our civil and political institutions.
b. These cases are inconsistent because much of the time the Court first rules against incorporation and then it ends up incorporating it after finding it to be a deeply rooted right.

g. Reproductive Autonomy

i. Buck v. Bell (1927) – Court upheld a provision allowing sterilization of the mentally ill or mentally impaired.

ii. Skinner v. Oklahoma (1942) – the Court overturned forced sterilization of criminals (Oklahoma Criminal Sterilization Act) based on the fact that reproduction is a basic liberty. However, the Court relied on Equal Protection. The important fact is that reproduction is now a fundamental right.

h. How does the Court determine if something rises to the level of a fundamental right for substantive due process protection?

i. The Court looks at the big picture and finds things which are clearly a violation and those which it has protected and sees which types of government action it has limited in the past

i. General Structure of Substantive Due Process Analysis

i. Does the law impact a fundamental right?

ii. Is the right infringed?

iii. Is there a sufficient justification (end) for the law?

iv. Is the means sufficiently related to the purpose of the law?

j. Griswold v. Connecticut
i. The Court here dances around using substantive due process to invalidate the ban on contraception because they were worried about repeating the Lochner era.
ii. The Court however, struck down a Connecticut law prohibiting a married couple from purchasing contraceptives. The Court said it violates the Constitution, but not a specific right in the Constitution. The Court says “penumbras, formed by emanations from those guarantees [the Bill of Rights] that help give them life and substance.” In other words, the Bill of Rights seems to suggest some right to privacy for contraception because the other rights which create a right to privacy explicitly. The law does not violate the 5th Amendment right to privacy, but instead, the penumbra of privacy created by the Bill of Rights. 
iii. Justice Harlan’s concurrence becomes the law. Harlan says the law should be struck down as a violation of the Due Process Clause.
k. Modern Substantive Due Process Analysis

i. Precedent-based reasoned judgment approach

1. Court determines “how to define the liberty interest” in question

a. Plaintiff wants the liberty interest defined broadly (so it seems like a wide-ranging right)
b. Defendant wants the liberty interest defined narrowly (so the impact is small if it is not protected)
2. Court asks whether there has been a “tradition and history” of protecting that liberty interest

a. See Palko v. Connecticut
3. Court considers existing substantive due process precedent (is the liberty interest along the best fit line) to assess whether the law in question violates Due Process Clause substantive protection of liberty:
a. Know each case covering substantive due process for this reason
b. If the Court has struck down similar laws, then it will likely strike down this one.

c. If the Court has regularly held as constitutional similar laws, then it will likely uphold this law.

4. Tradition and history test will be the “starting point” not the “stopping point” for the Court’s substantive due process analysis

a. The Court will start its analysis in history but will move away from it quickly

i. If the right in question has not been protected in history, it will remain unprotected even if it should be protected now. Otherwise, if tradition and history was the only test, the right would remain unprotected (Scalia’s plurality in Michael H.)
5. The court may consider other factors

a. The black letter rule is NOT formulaic

b. See Lawrence which looked to rulings of the English Courts and International Human Rights Laws

c. The entire Court agrees that modern substantive due process analysis is not formulaic – basically, they all agree the Court can look at whatever it wants in its analysis
6. If fundamental right ( strict scrutiny applies

7. If liberty interest ( rational basis applies

8. Examples of characterization:

	Liberty Interest
	Loving
	Bowers
	Michael H.
	Moore
	Glucksberg
	Lawrence

	Broad
	Fundamental right to marry 
	Court did not define broadly because it did not protect this as a liberty interest
	Liberty interest in parenthood

(Court did not define broadly)
	Fundamental right to reside in a home with close relatives
	Plaintiffs said liberty interest was the ability to control the circumstances of one’s death
	Rational basis plus – Court said no legitimate purpose to regulate private sexual activity (but no articulation of the right which is supposedly fundamental—sexual autonomy)

	Narrow
	Fundamental right to marry regardless of race
	Liberty interest to engage in homosexual sodomy (defined incredibly narrowly so not to be a fundamental right)
	Liberty interest for a biological father to visit a child born out of adultery when CA law says he has no interest in the child
	Fundamental right to reside in a home with x, y, and z relative
	Liberty interest in physician assisted suicide
	


ii. Loving v. Virginia
1. Virginia had an anti-miscegenation law which prohibited whites and African-Americans from marrying.
2. The Court held this law violated due process (and equal protection) because marriage is a fundamental right which cannot be restricted based on invidious racial discrimination.
iii. Michael H. v. Gerald D.
1. Plurality opinion. California had a law providing a presumption that a child born into marriage is a child of that marriage. In other words, the law limits the “rights” of a biological father against a married husband and wife.
2. Court decided whether that California law presuming that a child is presumed to be the child of a husband and wife violate Due Process. Court says this does not violate Due Process. Scalia looks only at tradition and history and finds no protection of a biological, non-marital father’s rights to child born into a marriage. 
3. The part which the remainder of the Court did not agree with in Scalia’s plurality opinion was Footnote 6. There, Scalia attempted to set a doctrinal rule on defining a liberty interest. He called for always defining a liberty interest narrowly.
4. But, the current majority rule is precedent-based with reasoned judgment and tradition and history and more broadly defined non-textual rights protected when “objectively ‘deeply rooted in… history and tradition and ‘implicit… such that liberty nor justice would exist…” requires “careful description of the asserted fundamental liberty interest.”
iv. Moore v. City of East Cleveland, Ohio
1. A zoning law severely restricted who could live together in the city based on family relationship. 
2. Court decides whether this law violates due process and decides that it does though the decision does not go too far. It only strikes down a law which prohibits a grandmother from living with a grandchild. Court looks to precedent, history, and tradition and then reasoned judgment to strike down the law. It finds there is a freedom of personal choice in family living arrangements because of decisional and spatial autonomy.
v. Bowers v. Hardwick
1. Counter-precedent case. Same sex couple is caught by police engaged in sodomy and prosecuted. 

2. Court decides whether a law prohibiting same-sex sex violates due process. Court says it does not. The Court narrowly defines the liberty interest and defines it as homosexual sodomy only (as opposed to intimate same-sex interests more broadly). Court reasons that the law is based on morality and therefore a legitimate state interest.
vi. Sexual Orientation and Discrimination

1. Lawrence v. Texas
a. A Texas law made same-sex sex a criminal act.
b. The Court decided the issue of whether the Texas law criminalizing same-sex marriage violated due process. The Court held the law did violate due process and rejected much of the rationale of Bowers because of its reliance on religious tenants. The Court said the Bowers Court wrongly defined the liberty interest at issue and evaluated the history of sodomy laws improperly. Laws did not prohibit same-sex sex but rather prohibited sodomy in general. The Lawrence Court, however, did not follow traditional substantive due process analysis. The majority did tradition analysis and precedent analysis and then stopped and said the Texas government did not have a legitimate state interest in regulating same-sex sex but did NOT label such relationships as having a protected liberty interest. The Court instead applied a type of rational basis review. The law was invalidated as violating due process, but it did not provide it protection as a liberty interest. The decision was limited to overturning this law on these facts; a law banning same-sex sex based on animus and religious motivations. 
c. O’Connor concurred in the judgment but applied the Equal Protection Clause. She said the law violated equal protection based on rational basis plus (because like in Romer this law was based on animus), but said homosexuals did not have the right to marry. She also did not want to overturn the Bowers decision.
d. Scalia dissents and purports to apply the same rule as the majority, but comes down differently. He argues majority rules and citizens of Texas voted for this law. Scalia is also angry that the majority overturns Bowers but not Roe v. Wade. Scalia believes morality considerations are valid justifications for a law – morality is a legitimate government interest.
2. RULE: post-Lawrence, laws classifying based on sexual orientation will only be subject to rational basis review. Laws making facial sexual-orientation classifications will trigger only rational basis, but if the law is based on the bare desire to harm (animus), rational basis plus will apply.
vii. Washington v. Glucksberg
1. Washington passed a law banning physician assisted suicide.
2. Court decided whether the liberty interest in physician assisted suicide rose to the level of a fundamental right. In the decision, the Court laid down a framework for making a liberty interest a fundamental right. The primary features of a substantive due process analysis are; (1) careful description of the asserted fundamental liberty interest, and (2) the liberty interest is deeply rooted in the history and tradition of the nation. The Court then rejects a fundamental right to physician-assisted suicide. In other words, the states have the power to ban physician-assisted suicide. There is no tradition or history of protection of physician-assisted suicide and it has almost always been prohibited. This means rational basis applies to laws banning physician-assisted suicide and this law stands up to that low level of scrutiny.
viii. Abortion

1. Because Roe established a fundamental right to abortion, modern substantive due process analysis (that from Glucksberg) is no longer applied.
2. Roe v. Wade
a. A Texas law prohibited all abortions except those to save the life of the mother.
b. The Court decided whether the Texas law violated substantive due process. The Court held that abortion is a fundamental right and its regulation is subject to strict scrutiny though the right is not absolute. The Court applied this rational to trimesters and held that in the first trimester the state has no compelling interest, in the second trimester the states has a compelling interest in maternal health so that the state may regulate abortions if reasonably related to the woman’s health, and that in the third trimester the state has a compelling interest in the maternal health and potential human life so that the state may prohibit or regulate abortions if there is an exception for the woman’s health and these regulations are subject to strict scrutiny
3. Planned Parenthood v. Casey
a. Modified but reaffirmed Roe v. Wade.
i. Court’s considerations in overruling established precedent:
- Has the legal rule in the case become “unworkable” (can judges still apply it)?
- Has society come to rely on the holding (detrimental reliance)?
- Has the law changed to make the case obsolete?
- Have facts changed?
The Court in Casey asked these questions in regards to Roe and found that the rule in Roe should not be overturned except in regards to the new rules in Casey (getting rid of the trimester rules in Roe)

b. Pennsylvania passed a law requiring a woman to give her informed consent to an abortion and imposed a 24-hour waiting period between provision of information and the abortion.

c. The Court decided this Pennsylvania law was unconstitutional because it imposed an undue burden on women. This undue burden test did away with the strict scrutiny rule from Roe. The new rule allowed a state to have an interest which would satisfy the undue burden test beginning at conception. The Court defined an undue burden by asking the question: does the law have the purpose or effect of placing a substantial obstacle in the path of a woman seeking an abortion before the fetus attains viability. 

4. Whole Woman’s Health v. Hellerstedt
a. The Court for quite some time between Casey and Whole Woman’s Health did not strike down regulations on abortion. The Court finally did here applying the undue burden test to show that the test is very different from strict scrutiny because it is much more fact specific. The Court determined that the Texas law at issue here was for the purpose or lead to the effect of an undue burden because it did not make the procedure safer or increase women’s safety or health.
VIII. Scope of the Federal Legislative Power

a. The Commerce Clause
i. McCulloch v. Maryland
1. Congress created the Bank of the United States which was partly owned by the U.S. States believed this bank infringed on their power so they began attempting to regulate the bank. Maryland passed a law taxing the bank but the bank continued to operate and ignored Maryland’s laws.
2. The Court decided whether the creation of the Bank was within the authority of the federal government. The Court held that the federal government had the power to create the Bank and Maryland’s taxation of the bank was unconstitutional. Marshall, writing for the majority, said that the power of the federal government came from the People, not the states. So, the federal government had enumerated powers but when exercised they were superior to the states. Marshall also assumed that along with the explicit enumerated powers of the federal government, the government also had implied powers. He reasoned this was true because it would have been impossible to list all of the powers of the government and because it must be inferred that Congress has powers beyond those enumerated to carry out those enumerated powers.
3. He also examines the necessary and proper clause. Maryland said necessary and proper means that Congress could only do what was essential to carry out its powers. Marshall disagrees and says necessary simply means useful. Congress may do those things which are merely useful in carrying out its express powers.

4. Rule from McCulloch; let the ENDS (e.g., to raise taxes) be legitimate, let it be within the SCOPE of the Constitution, and all MEANS (e.g., creating a national bank) are appropriate.
ii. CURRENT RULE; To assess constitutionality of legislative acts under the Commerce Power:

1. Is the law enacted within the scope of Congress’s authority conferred by the Commerce Clause?

2. Does the law violate the 10th Amendment / federalism principles?

	IX. Pre-1890s
	1890s-1937
	1937-1995
	1995-Present

	No 10th Amendment Limit

Broad Commerce Power
	10th Amendment = Limit

Narrow Commerce Power
	No 10th Amendment Limit

Very Broad Commerce Power
	10th Amendment = Limit

Broad BUT Narrowed Commerce Power

	Gibbons*


	Lochner era commerce cases

OVERRULED
	Jones and Laughlin*

Wickard*

Heart of Atlanta*

McClung*

Perez*
	Lopez*

Morrison*

Raich*


* Still “good law”; existing legal precedent

i. Gibbons v. Ogden
1. New York granted a steamboat monopoly to a private company. Company transferred the monopoly to Ogden. Then Gibbons opened a steamboat company, without a right, and began operating in New York. Ogden sues for violation of the monopoly.
2. The Court began to define what sorts of commerce Congress could control. Marshall, in his opinion, interprets what “among the states” in the Commerce Clause means.
3. Marshall interprets “commerce” to mean buying, selling and navigation. This means Congress can regulate navigation in the waters off the coast of New York. Marshall interprets “among” to mean intermingled with. This means the federal government can regulate foreign relations and commerce between the states (interstate commerce). This gives the federal an incredibly broad commerce power.
ii. There are two steps to assessing the constitutionality of a federal law:

1. Is the federal law enacted within the scope of Congress’ authority conferred by the Commerce Clause?
a. From 1937-1995 the answer was always yes. After 1995, the answer became “usually.”

2. Does the federal law violate the 10th Amendment?
a. Or does the law violate some other constitutional provision or doctrine?
iii. NLRB v. Jones & Laughlin (1937)

1. Jones & Laughlin was a multi-state steel company which mined, manufactured, and shipped steel throughout the states.
2. This case stated that Congress had the constitutional power under the Commerce Clause to pass the National Labor Relations Act establishing wage and hour standards for employees engaged in interstate commerce.
iv. United States v. Darby (1941)

1. Fair Labor Standards Act regulated employee work standards. The Court held the law constitutional under the Commerce Clause because how employers treat employees affects interstate commerce. Cost-cutting by poor working conditions can drive prices down affecting employers who treat their employees better.
v. Wickard v. Filburn (1942) 

1. Set a deferential standard of review for Congress’s commerce power.

2. Issue was whether the federal government can regulate production not intended in any part for commerce but wholly for the consumption on the farm (Agricultural Adjustment Act of 1938). The Court said Congress could regulate. Court believed that homegrown wheat would defeat the quotas imposed by Congress to stabilize wheat prices. If individuals could grow wheat at home, this would defeat the interstate supply and demand and destroy the quota system. The Court said the federal government may regulate intrastate activities which have a substantial effect on interstate commerce.
vi. Heart of Atlanta Motel v. U.S.
1. A motel had the practice of refusing to let rooms to African-Americans. The Civil Rights Act of 1964 was passed by Congress to prohibit discrimination based on race in hotels under the Commerce Clause. The Act was challenged as beyond the scope of Congress’s Commerce power.
2. The Court said the Act was within Congress’s commerce power. Racial discrimination in accommodations has a clear effect on interstate commerce because it discourages African-Americans from traveling because they would have nowhere to stay when away from home. Congress does not need to be concerned with the actual positive/negative effects on interstate commerce, but only whether there is an effect.
vii. Katzenbach v. McClung
1. Local restaurant claimed it did not serve any customers from interstate commerce so Congress could not force them to serve African-Americans under Title II of the Civil Rights Act of 1964.

2. Court said Congress did have the constitutional power under the Commerce Clause to prohibit race discrimination by privately-owned restaurants where, as here, a substantial portion of food served moved in interstate commerce. Extended Heart of Atlanta to very local restaurants.

viii. United States v. Lopez
1. Congress passed Gun-Free School Zone Act. The Act did not state any jurisdictional element requiring that the weapons in question travel in interstate commerce. 
2. The Court decided whether the Act was passed within Congress’s commerce power.

a. Congress has the ability to regulate three categories of activity under its commerce power.

i. Categories 1 and 2

1. The use of the channels of interstate commerce

2. The instrumentalities of and persons or things in interstate commerce

ii. Category 3

1. Local (intrastate) activity that affects interstate commerce

3. This Act was not passed within Congress’s commerce power. Guns in school do not affect interstate commerce and therefore cannot be passed under Congress’s commerce power. 
a. Congress needs a rational basis for believing there is a substantial effect on interstate commerce. Substantial effect factors:

i. Whether the law is an essential part of a larger regulation of economic activity

ii. Whether the law includes an explicit jurisdictional element

iii. Whether congressional findings are included (may help but is not determinative) 

iv. Relies on reasoning linking intrastate activity and interstate commerce that is too attenuated.

ix. United States v. Morrison
1. Shows application of Lopez. The issue was whether Congress had the power under the Commerce Clause to pass the Violence Against Women Act.
2. The Court held that it did not. 

a. Violence against women is a local activity which does not substantially affect interstate commerce.
b. The law in question did not have an explicit jurisdictional element – it did not require some additional element of interstate commerce.

c. Congress did provide extensive findings on the impact that violence against women had on commerce, but the Court said this was not sufficient. Also, if these findings could provide jurisdiction, Congress would be able to regulate pretty much all crime. 

d. The law relied on reasoning linking inter- and intra- state commerce that was too attenuated. If allowed, Congress would be able to regulate pretty much any conduct, interstate and otherwise.

e. This argument would have been acceptable under Wickard, but it no longer is under Lopez.

x. Solid Waste Agency of Northern Cook County v. United States Army Corps of Engineers
1. Clean Water Act. Court, to avoid issues with Commerce Clause, interpreted a federal law to avoid the federalism concerns with it. The Court ignored small portions of the law so that the law only applied to navigable waters which the Court treated as interstate waters. 
a. The dissenters in these cases points out that even completely intrastate activities can have interstate effects (e.g., migratory birds affected by polluted intrastate waters) which should allow the federal government to regulate. Moreover, many of these issues are not great motivators for the state to regulate because other states may not.
xi. Gonzales v. Raich
1. Congress does have the power under the Commerce Clause to prohibit intrastate manufacture and possession of marijuana for medical purpose which would be legal under state law.
2. The issue was the constitutionality of a provision of the federal Controlled Substances Act which prohibited the use of medical marijuana.

3. The Court said Congress could do this. The law is part of an overarching structure of regulating controlled substances. Court applies Lopez, but majority says more is considered and distinguishes this case from Lopez and Morrison. This case is more like the home-grown wheat in Wickard. Just like wheat, possession of marijuana, even if not for sale, is within the power of Congress to regulate even if completely local.
4. Court says the activity is non-commercial, but economic. Economics means production, distribution and consumption of commodities.
5. RULE: Congress can regulate purely intrastate activity that is not itself “commercial,” in that it is not produced for sale, if it concludes that failure to regulate that class of activity would undercut regulation of the interstate market in that commodity.

a. Though, the Wickard deferential rational basis standard is still good law.

b. The Tenth Amendment

i. Two competing interpretations:
1. Is the 10th Amendment simply a reminder that the federal government cannot exercise powers not granted by the Constitution (Wickard era)? OR

2. Is the 10th Amendment a judicially enforceable limitation on the federal government that reserves certain powers for the states (Lochner era)?

ii. National League of Cities v. Usery
1. Congress does not have the constitutional power t0 regulate activities of states as public employers because it is limited by the 10th Amendment.
iii. Garcia v. San Antonio Transit
1. Congress does have the constitutional power (not limited by the 10th Amendment) to regulate activities of states as public employers.

2. Garcia, however, has been overturned.

iv. New York v. United States
1. 10th Amendment and federalism principles prohibit the “take title provision” of the Low-Level Radioactive Waste Policy Amendments Act; Congress cannot “commandeer” the legislative process of the states. 
2. Two ways Congress could unconstitutionally commandeer:

a. Commandeering the legislative process

i. By passing a law requiring a state legislature to pass a law (e.g., having a state implement a law to take-title of radioactive waste)

b. Commandeering local law enforcement (Printz)

v. Printz v. United States
1. 10th Amendment and federalism principles prohibit Congress from commanding state and local law enforcement officers to conduct background checks on handgun purchasers to implement the Brady Handgun Act

vi. Reno v. Conlon
1. 10th Amendment and federalism principles do not limit Congress’s authority under the Commerce Clause to pass Driver’s Privacy Protection Act regulating disclosure of personal information in state DMV records.
X. The Federal Executive Power

a. Approaches:

i. Formalism – emphasizes separation of power. The Court will draw bright lines between the branches. Asks what sort of power is being exercised? Who is exercising it? And if the power is not being exercised by the branch it belongs to, the Court will strike it down.

ii. Functionalism – emphasizes checks and balances. The majority rule (explains the expansion of the president’s power). It is acceptable for one branch to be involved in the functions of another. The question becomes whether the intrusion undermines the core functions of that branch.

b. Youngstown Sheet & Tube Co. v. Sawyer
i. President Truman ordered steel mills seized to avoid a military disaster when the workers went on strike.
ii. The Court decided whether this was a constitutional and held that it was not. The Court took a functionalist approach. Congress had passed the Taft-Hartley Act which applied to peace time labor disputes but rejected an amendment allowing the president to seize in cases of emergencies. The Court saw this rejected amendment as an indication that Congress did not want the president to have that power.
iii. Justice Black’s plurality opinion applied formalism which focused strictly on the text of the Constitution which did not provide any support for the seizure. (NOT THE RULE)

iv. Justice Jackson’s three-zone analysis applying functionalism provided the rule for the future. 
v. The Youngstown Court deals with the inherent powers of the president. So, when may the president act?

1. Is the power provided to the president expressly or impliedly?

2. When may the president act without statutory authority or grant of Congress>

vi. Jackson uses three zones to help answer these questions. The three zones are:

1. Express/implied authority by congressional approval or the Constitution. Here the president’s power is at its peak.

2. President acts and Congress and the Constitution are silent (the twilight zone). There is no explicit authority.
3. President acts, the Constitution is silent, and Congress contradicts the act (by action or inaction). Here the president’s power is at “its lowest ebb.”
vii. Here, Jackson says Truman’s action is in the third zone because Congress has expressly contradicted his action in the Taft-Hartley Act.

c. United States v. Nixon
i. The Court rejected President Nixon’s claim of an inherent presidential power to exert “executive privilege” and the Court required the president to comply with a subpoena to produce Watergate tape recordings and documents.

d. Youngstown and Nixon dealt with domestic powers. So what about the president’s foreign policy powers?

i. U.S. v. Curtiss-Wright
1. Justice Sutherland interpreted the president’s power in foreign affairs very broadly.  (this is not the current majority rule)
ii. Treaties vs. Executive Agreements

1. Dames & Moore v. Regan, Secretary of the Treasury
a. President has the power to enter into executive agreements without the advice and consent of the Senate (which would be required for a treaty) and to settle claims incident to the resolution of major foreign policy disputes where Congress has acquiesced to the president’s action. Congress’s acquiescence is seen as tacit approval. 
2. War Powers

a. The War Powers Resolution was an effort by Congress to reel in the power of the president to use troops without congressional approval. But, the Resolution is not strictly enforced and some presidents have complied while others have no believing it to be unconstitutional. The Court has not ruled on it (and is unlikely to do so as a political question).
